JFC

JELS ER#R

3 AUS

===/

38 & b 3R

i L

o JELSEARINIECXH 5 —RERAH RG]
* JELSEFEBRFZERRBREEUNSS
=

i 2N

® BT

= ZERHE - BEER
PREIAYZ S

JELS ERFFEELHET

o BREMSE DBRERRIEESE

RMIaEs %

7

=

EfI: AF

EERBRERE(CM) 5 H 1 (P=70kgf/cn’) B35 B 1 (P=140kgf/cm’)
A (mm) | B (mm)
# AVl # £Vl ii3 ATl
50 30 19.6 12.6 1375 880 2750 1760
63 35 31.2 21.65 2182 1508 4343 3016
80 40 50.3 38 3519 2660 7038 5320
100 56 78.5 53.9 5498 3774 10995 7548
~
HAFME
il%%f T iE% B (NBR) PRE&Z B (PU ) 2:ZB(FPM )
g 1 2 3
— IR R % O O O
K% O X O
TKH - HRIK A O X O
LN X X O
Rom -20°C ~ +80°C -10°C ~ +150°C
HE 20 ~400mm’/s{cst}
A =
1.— % HEY) M %:1SO-VG32

2EREBMERE—MIEY RS - AIERIRER - A

TRNEC - EHAR SRR FIRZEMET(NBR) -
3ERBHZERMMRERNSRIRED @ BHARNEAPUEA
TRRECEE3 - DAZAEAl -

4325 OO x:

5.81% 2 (FPM ) HE - EREBERF N - IWREREE150°C

R -

ZS=1

165




JFC
HE E%07

JELS ERFFEHELHET

JELS — A —140+ — EXHLAH 50+ 100 H — LI
TSR (RS
‘fg;ﬂ;ﬁﬂ LI:E 0 am R RE 25
L2 EftE 2R

[ 7]

70kgf/cm’ SHEIME

140kgf/cm’ ZEl  EER T BB (NBR)
) N 2 : IRES1EA(PU)

T ERE 3 HIZB(FPM)
ERERNMEEm

Ui 20/ T R i .

(&EBELS0°C) 7%= (mm)

EEPZEK

MF ST (BREAR B ME R/ TR RN R T B)
(EXSF

ZERAR A (mm)

\LA%QE@ $50. ¢$63. $80. $100

5 : 1JUFANE RS AERISUE

345K MBI R AR R

RIEARTEBE -

2EMERGBIBRBRHBERARTSH -

37 IA
2 /8

HEEEER -

166

FEma: | Wl et

2= 3=

bl iy

B iS5 R H

HERSE || ERE

FERS MR

o T




JFC
INER R T [E]

JELS ERFFEHEHET

AR
al 4-——1 H:% S E— - —JUFAN—| il
2-EE ]
=ph &
v pxemm
4-DD
Il />
B it v N | L
—
~ EN Il 1
14 - g 777777 e I = S N — —JUFAN-{-Hit- -
= i ‘
o S e s
I = T =
C \}\r—\’\}\
X W
W LL+fT%2 L
A2 ZJ+1TH8
GO %
| TEEE | MM| K2 | AZ| C W |TX|TW| TY|LL|ZJ| L | G| J K| DY PXN
&
50 | >45 | 30 |M24X15| 35| 10 11|53 | 14 | 4 | 98[143| 34 | 60 | 40 | 40| 27 | 28 | 36 | 10
63 | >40 | 35 |M30X15]| 45| 11|13]67| 16 | 4 [100[147| 34 | 60|50 |50 | 32 | 30 | 36 | 10
80 | >50 | 40 |M36X15| 55 | 14 |17|82| 16 | 4 [121[159] 21 | 60|60 |60 | 37 | 35 | 38 | 15
100 | >60 | 56 |Md48X15| 70 | 15| 17|97 | 16 | 5 [128/163| 18 | 60 | 70| 70| 50 | 39 | 38 | 15
FC 5%
N Ti2%@ | EE | FB DD EB | EA | LH | RR |RR1| LF
"
50 >45 RC1/4 | 14 | M10X1.5i%22 74 | 94 | 34 | 74 | 45 | 15
63 | >40 | RC1/4| 16 | M12x1.75:%26 | 89 | 114| 42 | 90 | 55 | 15
80 | >50 | RC3/8| 16 | M14X2.0i#30 | 109|134 52 | 110| 70 | 20
100 | >60 | RC3/8 | 18 | M16X2.0iR35 | 129|160 62 |134| 90 | 20

167




JFC

HREE |k RoiEE 4 EEE :Hﬂﬂ%ﬂi HoHEH (| EREH 4 FEH Tm_m__zmﬁ&ﬁ#; R 7

168



